NOVEMBER 2019 60556/CYAS5A

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

1. Define Management Accountant.

GloemeirenLn SETSSTaTT eUE L.
2. Whois a treasurer?

UW@]E;TTQJGD_I"I' GrGhu@in”U.llTﬁ'?
3. Whaf is a comparative statement?

@DL“:’I'_@ SINFDSE T erenman?

4.  Prepare common size balance sheet (liabilities side only)
Share capital 1,50,000
Debentures  4,50,000

Current liabilities 9,00,000
Total liabilities 15,00,000
Qurg Bleneowrer @@Ly Hevard GHlliewu swrr Qeis. (QumyliLjser
LEH D). oy 0
| LI AP@SEILD 1,50,000 L
LU usHriiser  4,50,000
B QuimpLiLserr 9,00,000
Qurss Qurgiyser 15,00,000 .
5.  Net sales Rs.1,00,000; Cost of goods sold Rs.70,000. Find out
gross profit ratio.
Blay eflpuamar @. 1,00,000, 786 ofpueer widsnd . 70,000,
Quorss G NfHgsm5 saTsEH (s )
6.  What is Net profit ratio?

Hlar @emu G]S]Q‘Q';Lb GTEIIMDITE) GTEITEH?



10.

11.

What are ‘cash equivalents’ according to AS 37
AS 3 W Ui ‘QpTEESgIHE FLOTETEME’ WITEH6U?

Calculate funds from operations.
Rs.
Net profit for the year 1,00,000
Depreciation chax;ged 10,000
Profits on s_ale of assets 20,000

Qawéum’_iqgieTer ﬁﬁuﬁ]mm&mé’sa‘ﬂ@&.

Rs.
@)eueumenrig e Hlay @emub 1,00,000
GsWinmenid - ' 10,000

Qengg efpLienanuder @emin 20,000

Define ‘budgetary control”.

Il s Giaur(’ euenum.

Prepare a production budget for the following :
Sales 10,000 units
Closing stock . 4,000 units
Opening stock 2,000 units

Dereumevareaupielmbs 2 HLSH S L Seng swi QFis,

" efiprene 10,000 siev@ser -

@nsl &ﬁeﬂ@ﬁlu 4,000 Go@se6r
Qsrss syadlmuy 2,000 SjQ@ser

Calculate P/V ratio. . _
2006 . 2007

Sales (Rs) 10,000 8,000
Profit (Rs) 2,000 1,000
@mnu/ ufenimo eflssms sansdl(Hs.
- o 2006 2007
eipuenar (ep) 10,000 8,000
@erub (@) 2,000 1,000
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(ear) em. 2,00,000 efipuemer @@HBsTed S GslGLMID @a)rrum
Siegl BLL LD Fuieunem searsd (Hs.
adhuenar afleney D@ emms@  ep. 10

dpuenen Sjetey - : 25,000 sie@aar

Gy gpaoridumper - 2 DADE PSS
Gprig Lewfluimenit g . 1 D@ RammsE
Cpirg. teaeianmiser (. 1 i@ peaTnés

wrouUGL Cup@sweser . 2 SIVG RATNES
Bleneowirar CopCleawa ser ‘
BlieursLd - 5. 10,000
efpLienar | 5. 20,000
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12.

13.

14.

Find out the profit or loss from the following :
Sales : Rs. 2,00,000
- P/V ratio : 40%
Fixed cost : Rs. ,1,00,000.
Detreu(ipeuanaud Hlell mHE @OMULD SIS BL L SmE STars.
ellpuane : ap. 2,00,000
Qaeru /uflartiio e9fgb : 40%
Blenewirer Qeaeyser : ap. 1,00,000.

8 g

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Explain the characteristics of management accounting.

Guarerenio a;cwra;eﬂu_mﬁ]m @Gwrrrﬁ&u_lrmamm efleul.

From the followmg P & L a/c of Resh Meena Ltd, for the year
ended 31t December 2007 and 31%t December 2008 prepare a

comparative statement.
' Profit and Loss account. "
Particulars 2007 2008 Particulars 2007 2008

To cost of goods sold 600 750 By net sales 800 1;000
To administrative exp 20 20,

To selling exp 30 40
To net profit 150 190
800 1,000 800 1,000

Qeéinauqpto Qe Barm MA@ e 31.12.2007 whmib 31-12-2008 6
Qo L sarsmad Qarar®h LGl ( Sifsmamwu swimt Qeiis.

“efflaupid 2007 2008 efleur> 2007 2008
575 elpuemen siLssd 600 750 Hlsrelpuemer 800 1,000
Blireurs Qgeveyser 20 20
eSlpLiener QFaeyser 30 40
Bl&y @b 150 190

_— —_—
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15.

16.

Calculate

(a) Stock turnover ratio and

(b) Stock turnover period from the following.

Sales " Rs. 20,00,000
Gross profit ratio 30%
Stock at the beginning of the year = Rs. 1,55,000
_Stock at the end of the year Rs. 2,00,000
samE {6, '

(=) 878G SO NS0

(<) e7&E HPHE HTLD. _ X
el Lienew 5. 20,00,000

Qs @enu efldlgib 30%
- (R U sFsHmUL.  en. 1,565,000

<par® @mé srsdmuL . 2,00,000
Calculate funds from operations
(a) Net profit for the year ended 31.3.2000, Rs, 6,50,000
(b  Profit on sale of building Rs.40,000
© " Goodwiil written off during the year Rs.10,000
(d) © Old machinery worth Rs. 8,000 had been sold for Rs.6,500
(¢) Depreciation has been provided on plant at 2Q% per year

The value of plant is Rs. 5,00,000."

Qe giarer Fl&ufenen senTss (Ha.
(@) By Garup 31.3.2000 e (. 6,50,000
() sligL eflpuemanuer @eoruib 5. 40,000
(@) Bl ey d ppOuwT CursQapdug m. 10,000

(F) ¢m 8,000 wAlymLW uvmpw QubSrd .6,500  &@
pasliulLg) - C

(2) Qumpluden Bg 20% Caiioreand egdEsiinlL g Qurdluder gl

¢m.5,00,000.
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24,

- Hevewrer GopQsawe sar:

Gaiorerid 16,500
ESNISIC) 4,500
FLDLIGTLD 15,000
Quwrss Copllsaeser 93,000
erdlrunig @b Criryg. uanflwmart Criyid 1,86,000
From the follOwin_g information calculate
(@) P/V ratio
(b) BEP in units and value
(© Mar’g'in of safety ‘
(d) Margin of safety ratio ’
(g) - Sales required to earn a profit of Rs. 10,000
(ﬁ Profit Or_ losé when sales is Rs. 2,00,000. |
Selling price per unit  Rs. 10
Sales quantity 25,000 @nits
Direct materials Rs. 2 per unit
Direct labour Re. 1 per unit
Direct expenses Re. 1 per unit
Variable OH Re. 2 per unit
. Fixed OH
Administ-ratibn Rs. 10,000
Selling Rs. 20,000 -
Qeweu(mLd efuphisamend Qe (H
(@) @oru/ufianmo el
(<) swhlenals yeraflufer g LDﬂ)gij WAL jsefled
(@) wrgismiy efefibyy
‘ ()  urgismiy afefliby efl5Ld
(2) e5. 10,000 Qerubd L Ggeneuuimer edpLaner
9 60556/CYA5A



23/

Weaneu@pd elfsmsmeards Casrar® Q@ULblomos @dlleu gwmi
Qeawis: . ‘ .
(1) BenLpenm wpsged . 60,000

(=) asmiy womiw 2 ufl ey 40,000

(@) eurd Guoé auenits Lpmy em. 10,000

(rr) Qerggisaer (Heavewrar) o Mewwrert 69&sn 0.75

(2) pLruyeidsn 2.5

(2ar) B aflflgmd 1.5.

Prepare a flexible b‘_udget for ovérheads on the basis of the
following data. Ascertain the overhead rates at 50%, 60% and

70% capacity.
' : At 60% capacity (Rs)

Variable overheads:

Indirect material 6,000
Indirect labour ‘ ' | 18,000
Semi-variable overheads : -/

Electricity (40% fixed, 60% variables) 30,000
Repairs (80% fixed, 20% variables) _ 3,000
Fixed overheads:

Depreciation ' ; ’ 16,500
Insurance 4,500
Salaries _ . | 15,000
Total overheads s 93,000
Estimated direct labour hours - . 1,86,000

Gemeugpd  ellupliseerd Qsram® Cupbemeysersstear. Qpdpay
AL smg gwunt Ceals Coplswea obdlgnd 50%, 60% whmb 70%
gnaflh@ samsdlBHs. :

LIMURD CFweydEeT :

EDLPS e LIGLIm(mHeT | : 6,000
EODPS LiewmilwimeT ' 18,000
uEH-wLIoUBD CoHbFmea sHer . ;

Wergmyid (40% Hlepevwimang), 60% wTmILIL &S&niqWigI) 30,000
LsUTTILA(80% Blevawimang), 20% rmiLIL &dniqLig)) 3,000
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17.

18.

Prepare a cash budget of Bindra Ltd for the year 2008.

: Rs.
Opening balance of cash as on 1.1.2008 10,000
Cash sales - 30,000
Receipts from debtors - 50,000
Cash purchases i © 20,000
Payment to creditors . 20,000
Payment of operating expenses. : 10,000

Dividend received : 5,000

Cyrés eurey Qgwey Hi_Lsmg AGrT G L g6 2008 b BT (HEEG
st QFls. )

. Rs.
1.1.2008 sienmenmws Qymés @ mLy 10,000
Qyrés eNpuen e 30,000
sLanmerigeflLb QuhmS - 50,000
Qréss Qarerpse ' 20,000
SLaBCEIB6E Crgisdug 20,000

G&u_l‘si)um'_(a Qeoveilamisar QegisdHuwg 10,000
LRIETSTWD QDD S mh 5,000

Venus manufactures has supplied you the following information
in respect of one of its products.

Rs.
Total fixed cost 18,000
Total variable cost 30,000 i
Total sdles 60,000 .
Unit sold 20,000

Find out :

(a) Contribution per unit

(b) BEP
(¢) Margin of safety
(d) Profit

() Sales to earn a profit of Rs. 24,000.
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19.

20.

21.

Gemeu(mid edupfisamer alanad &mugé,\mnmﬁ, sevgl 2 HUSEH Qumpar
RETMESTS SHSIGTETTIT.

Rs.
Qurgs Hlena Qeawey] 18,000
Qurss wrpu@b dewey 30,000
Qorgs efHLanen 60,000
S Gs6r allhLener 20,000

SaTES (D&.
(1) i@ pansaTear LkisefllL

(<) swHlemeoLs Larar |

(@) urgismiy eSlefibLy

(FF)  @eoruid

(22) em. 24,000 @eruib L GCgeeuwtrar allpLienar.
< «
Explain the features of marginal costing.

aﬁ]aﬂqu SiLdsefwelan HpLdueLsmar aflau.
PART C — (3 x 10 = 30 marks)
'Answer any THREE questions.

What are the different steps-involved in the installation of
management accounting system?
Cuoeravenld  samsse WD gﬁ]gjmmﬁéb o drer  LGaum

Uiy Blenev&aT Wimg)?

The summary balance sheet data in respect of Deri Ltd and Heri
Ltd is as under : '

Deri Ltd (Rs) Heri Ltd (Rs)

Buildings ~1,00,000  4,50,000
Machinery 3,00,000 7,50,000
Share capital 4,50,000 14,50,000
Retained earnings 50,000 33,000
Debtors ' 1,15,000 - 1,60,000
Stock o 60,000 2,17,000

6 60556/CYASA

22,

Cash 10,000 5,000
Prepaid expenses 5,000 3,000
Creditors 91,000 1,00,000 .
Liability for expenses 9,000 17,000
- Prelimina’ry expenses 10,000 15,000

Prepare common size balance sheet.

- Qi wpps sl HBAL yer Gy Hocsedude eughasr

eraumwry. Qomss @sran® Curg fevaw QB Hlene @GHllienu
gt Gewis. N
QL e (e5) Qesfed (em)

Bl Lib 1,00,000 . 4,50,000
Quidiytd 3,00,000 7,50,000
LI apesaniDd 4,50,000  14,50,000
Q& MetiTig (HEGLD GU(HLOMEHLD 50,000 33,000
ST : 1,15,000  1,60,000
srEOmLY , 60,000  2,17,000
Qs 10,000 5,000
(BOGEET&%\.I._LQ_GU_I' QeqysHw Qe ayser 5,000 . 3,000
sLafpGanit 91,000  1,00,000
é&a)aqasch Bgmen Qun@jﬂﬁ&;@h 9,000 17,000
< TbL QFweySaT 10,000 15,000

From the following ratios, prepare a summarized balance sheet.
(a) Working capital Rs. 60,000

(b) Reserves and surplus Rs. 40,000

(0 Baﬁk overdraft Rs. 10,000

(d) - Assets (fixed) proprietorship ratio 0.75

(e) Current ratio 2.5

() Liquidity ratio 1.5
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